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Sample Paper – 2010

Class – X

Subject – Mathematics                                                                             
General Instructions:
[image: image1.wmf]260

182


SECTION – A
(10 x 1 = 10)
1. Without actually performing the long division, state whether the rational number 
[image: image6.bmp]
will have a terminating decimal expansion or non-terminating repeating decimal

expansion.   

2. [image: image4.png]The graph of y=f(x) is given. Find the number of zeroes of f(x).
3. If x + 1, 3x and 4x + 2 are in AP, find the value of x.
4. Is 68 a term of the AP 7, 10, 13, ………?
5. [image: image5.emf]What is the value of Tan10Tan20Tan30.....................Tan890?
6. In the adjoining figure, AD = 8x + 9, CD = x + 3, 
BE = 3x + 4 and CE = 2. Find the value of x if DE║AB.

7. A tangent PQ at a point Q on a circle of radius 5cm meets a line through the centre O at a point P so that OP = 12cm. Find the length PQ.   

8. Find the perimeter of a sector of a circle with radius 10.5 cm if angle of the sector is 600. 

9. A number is selected at random from the numbers 3, 5, 5, 7, 7, 7, 9, 9, 9, 9. Find the probability that the selected number is the average of the above numbers?
10. Name the measure of Central tendency which can be found from the cumulative frequency curve.
SECTION – B
11. (5 x 2 = 10)
12. Solve for x: 4√3a2x2 + 5abx – 2√3b2 = 0.
13. If Sin 5θ = Cos 4θ, where 5θ and 4θ are acute angles, then find the value of θ.
14. A line is of length 5 units and one end is at the point (1, -2). If the abscissa of the other end is 4, find its ordinate.
15. XP and XQ are two tangents to a circle with centre O from a point X outside the circle. ARB is a tangent to circle at R intersecting XP and XQ at A and B respectively. Prove that XA + AR = XB + BR.
16. While dealing with cards, two red kings, two black queens and a red jack fell down.  From the remaining cards, a card is drawn at random. Find the probability that the selected card is (i) neither a queen nor a king (ii) a jack.
(OR)


What is the probability of getting 53 Sundays in a year?
SECTION – C
(10 x 3 = 30)
17. Prove that 
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 is irrational.

(OR)

Use Euclid’s division algorithm to show that the square of any positive integer is either of the form 3m or 3m + 1, for some integer m.

18. Find the zeroes of the polynomial x2 -3 and verify the relationship between the zeroes and the coefficients.
19. Find the value of p if 4x2 – 3px + 9 = 0 have real roots.
20. A sum of Rs.280 is to be used to award four prizes. If each prize after the first is Rs.20 less than its preceding prize, find the value of each of the prizes.
21. Prove that 
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(OR)


Prove that (TanA + CosecB)2 – (CotB – SecA)2 = 2TanA.CotB(CosecA + SecB).
22. If A (– 5, 7), B (– 4, – 5), C (– 1, – 6) and D (4, 5) are the vertices of a quadrilateral, find the area of the quadrilateral ABCD.
23. Find the fourth vertex of the parallelogram if three consecutive vertices of a parallelogram are (– 4, – 1), (– 2, – 4) and (4, 0).
24. Draw a ΔABC with side BC = 7cm, (B=450, (A=1050 .Then construct a Δ whose sides are 4/3 times the corresponding sides of Δ ABC.

25. In the adjoining figure, TBP and TCQ are tangents to the circle 
whose centre is O. Also (PBA = 60( and (ACQ = 70(. 
Determine (BAC and (BOC.


26. Find the perimeter and area of the shaded region in Fig.1 if PQ = QR = RS = ST and PT = 28cm.
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Fig.1







Fig.2
Find the area of the unshaded region in Fig.2 if the perimeter of the equilateral triangle is 42cm.
SECTION – D
(5 x 6 = 30)
27. A man walks a certain distance with certain speed. If he walks ½ km/hr faster, he takes 1 hour less but if he walks 1km/hr slower, he takes 3 more hours. Find the distance covered by the man and his original rate of walking.
(OR)


Two pipes running together can fill a tank in 6 minutes. If one pipe takes 5 minutes 
more than the other to fill the tank, find the time in which each pipe would fill the tank.
28. A boy standing on a horizontal plane finds a bird flying at a distance of 100m from him at an angle of elevation 30º. A girl standing on the roof of 20m high building finds the angle of elevation of the same bird, at the same time, to be 45º. Both the boy and the girl are on opposite sides of the bird. Find the distance of bird from the girl.
(OR)

The angle of elevation of a cloud from a point 200m above the lake is 30( and the angle of depression of the reflection of the cloud in the lake is 60(. Find the height of the cloud.
29. In a triangle, if the square of one side is equal to the sum of the squares of the other two sides, then prove that the angle opposite to the first side is a right angle. 

Using the converse of the above theorem, If ΔABC is equilateral with AD ┴ BC, then prove AD2 = 3DC2
30. A perfume bottle is available in a hemispherical bottom with a conical cap, packed in a cylindrical transparent sheet, such that it just encloses the bottle. If the height of the pack is 14cm and diameter of its base is 14cm, find capacity of perfume; also find how much space is left between the bottle and the pack. 
31. Find the mean and modal age of 100 residents of a colony from the following data.

	Age in years
	>0
	>10
	>20
	>30
	>40
	>50
	>60
	>70

	No.of persons
	100
	90
	75
	51
	24
	15
	5
	0
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1. All questions are compulsory.


2. The question paper consists of 30 questions divided into four sections A, B, C and D.


    Section A contains 10 questions of 1 mark each; Section B contains 5 questions of 2 marks 


    each, Section C contains 10 questions of 3 marks each, Section D contains 5 questions of 6 


    marks each.


3. There is no overall choice. However, an internal choice has been provided in one question 


    of 2 marks, three questions of 3 marks each and two questions of 6 marks each.


4. Make neat and labelled diagram wherever necessary.


5. Use of Calculators is not allowed.


6. Please write down the serial number of the question before attempting it. 
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